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Sample


The sample question is provided as an illustrative example only. It is not intended for use with the 2005-2007 Alberta Social Studies Programs of Study.
[image: image2.jpg]Use the following diagram to answer question 52.
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52.  Which of the following characteristics most appropriately completes the
diagram?

High rates of business bankruptcies
High rates of personal income tax
Low levels of unemployment

Low levels of inflation

el s




Text…








Text…








Text…








Text…








Text…














LearnAlberta.ca
 
© 2008 Alberta Education (www.learnalberta.ca) 

